New Maths GCSE: R5 & R10 - Best Value

NaME: . i
6 cans |
p— £2.70
£4.00
How much does 1 can cost in Deal 17
£50 B f£0.50
£32 B £0.20
6 cans | i
£2.70

8 cans
£4.00

How much does 1 can cost in Deal 2?

£0.22 B £4.50
£16.20 B £0.45

How many cans can you buy for £24 in Deal 1?

A 6 A 12
B 48 B 24

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD

Explanation:
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How many cans can you buy for £135 in Deal 2?

300 B 50
22.5 B 225
| Deal1 | I:ﬁ!}

How much does 1kg of apples cost in Deal 1?

£3.69 B £0.31
£4.67 B £3.24

1.2kg for £3.89 700g for £2.14

[-X)

How much does 1kg of apples cost in Deal 2?

£5.14 B £0.31
£3.06 B £2.34

1.2kg for £3.89 700g for £2.14

[-X')

What weight of apples do you get for £1 in Deal 1?

0.31kg B 3.24kg
0.91kg  E 0.4kg
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



1.2kg for £3.89

Correct Answer: ABCD
Explanation:

700g for £2.14

What weight of apples do you get for £1 in Deal 2?

350g
0.31g

B0 30278 | e
Bl 327.108 | o
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